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Dr. Quattrin

Rational Test

CALCULATOR ALLOWED

Round to 3 decimal places. Score
Show all work.

1.  Find the zeros and VAs of y= x3x—2 ;x%i;i Fonxe [—4, 00). Show the
supporting algebraic work. B i .
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2. Find the extreme points of y= xf_z;ﬁi;i S onxe [—4, o). Show the

derivative and algebra to support the critical values.
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3. Find the equations of the lines tangent to and normal to y= P FwoE T at
—4x"+x
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4. Find the zeros, VAs, POEs and EB of y= 44x +x°+16x-4 . Show the
x
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supporting algebraic work. .
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3 Find the extreme points of y= iz 75" Show the derivative and algebra to

support the critical values.
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Rational Test

CALCULATOR NOT ALLOWED

Show all work. Score

6. Write an equation of a rational function that has x—intercepts at (5, 0), VA at
x=2,aPOE at x =-5, and a HA at y=—g.
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7. Show the sign pattern and solve
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8. Find the traits and sketch y= 4

Domain: AtL £gacs

Zeros: (:{: 2. 5Y

VAs: Noe~g

End Behavior (left): 3 = =\

Extreme Points: ( o f;c’g\;-)
(
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Y — Intercept: CZ) (1%")
Range: 'j - (’"l : L[/q‘]

POEs: wonE

End Behavior (right): L} = —\
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g, Find the traits and sketch of y= on x € [—4, 00).

Domain: X< L”W %3 v, (%( w) Y — Intercept: (@\ V)

Zeros: (—_— ¥, Y Range: U) & [:_' , 2o : |.20 ?}
VAs: NouE POES:C‘5\;‘\5
End Behavior (left): ~oneE End Behavior (right): \j B

Extreme Points: S2g %




